Best model for HELP J113512.820+002138.572 at z = 0.494 x2=0.92
OPTx2=0.91 IRYy?=1.95 threshold (OPT IR)=11.96 [um]

Stellar attenuated
fffff Stellar unattenuated
—— Dust emission

102 3

1 ] —— AGN emission
10 = Model spectrum
E ® Model fluxes
] [ Observed fluxes

— 109 3
) ]
S
X -1 ]
E 10
[N

10—2 4

1073 4

é 3

= ] ==f=(Obs-Mod)/Obs

=}

S

n

] 0 [ S R . P o0 R S S S S S S S S - ————————— A S R R S e ——

—_

()]

2 ]

© -1 , ——————1  CIGAL

]

[a'd

10° 10! 102 103 104 A
Observed wavelength [um]



